Formula Solutions to Assignment #2

1) 5, 6th, 5th
2) $500*(1+r)15
3) $120/r

4) ($70,000/(r-5%))*(1-(1+5%)15/(1+r)15)

5) ($80,000/(r-4%))*((1+r)20-(1+4%)20)

6) ($80,000/(r-4%))*((1+r)20-(1+4%)20)*(1+r)

7) $100,000*(1+r)8
8) ($50,000/r)*(1-1/(1+r)30)*(1+r), ($50,000/r)*(1-1/(1+r)30), 

($50,000/r)*(1-1/(1+r)30)/(1+r)19

9) ($1000/r)*((1+r)16-1), 
a) ($1000/r)*((1+r)16-1)

b) ($1000/r)*((1+r)16-1)*(1+r)10
10) Perpetuity, 21

11) ($100,000/(r-5%))*(1-(1+5%)16/(1+r)16)*(1+r), 
($100,000/(r-5%))*(1-(1+5%)16/(1+r)16)/(1+r)9
12) {[$(500+ last 2 digits of your ID)/$200]1/10-1}, or, use a financial calculator with N=10, PV=-200, PMT=0, FV=500

13) Use a financial calculator with r=(10+(1/100) times the last two digits of your ID)%, PV=2,000, PMT=0, FV=5,000

a) $(400+the last 2 digits of your ID) thousand *15%/((1+15%)40-1)

b) $(400+the last 2 digits of your ID) thousand *15%/((1+15%)20-1)

c) $(400+the last 2 digits of your ID) thousand *15%/((1+15%)10-1)

d) Due to the effect of compounding being greater over longer time periods. 

